[image: image1.png]LUGARI DISTRICT END -YEAR JOINT EXAMS

FORM II MATHEMATICS NOVEMBER 2010

MARKING SCHEME

| QUESTION SOLUTION MARKING SCHEME
1 No Log
3.45 0.5378 —» 0.5378 M, All logs
7.86 2.8954
0.007 384527 M; | Addition & Subtract
0. 7405— 0.7405 M Divisi
17973x% | Mt | Division
‘ 8898 x10H — — 1.9493
1
=0.8898 A
2 2y-3x+4 =0
y =3/2x +2
Gradient = 3/2 (Parallel lines) B, Gradient
Eqn Yy = mx +c Follow Alt. method and
y = 3/2x+ ¢ (1,-2) M, Award marks for correct
-2 =3/2(1) + ¢ working
C = -7/2
Y =3/2x -7/2 Ay
2y-3x+7 =0 B,
3
a) Volume of cube = 543-200
= 243em’ B,
b} Length of the side
P =243
| =(243) M,
=6.2403cm A





[image: image2.png]4 a) LSF = (ASHY?
= 9/16 =% B,
LSF =34
b) Ry =%
Rg
M,
Ra =% x 12
A
=9cm
5
| SinA = 3/5
(30— A)
3 5 Pythagoras theorem
A
4
a) CosA = Adj = a5 B:
Hyp
J b} Tan(90-A) =4/3 B,
c) Tan2A = TanA xTan A
‘ =% X %
‘ | :Aﬁ Bl
6 i
| 51677 x 83 52°¢
(293 x @3 . g M; | Same base
2°x2 428 = ot M, | Simplification
=2 A
7
Area of hexagon
Area of 1A = Y ab sin ¢ M,
Areaof 6As =6 x Jab sin ¢
= 3ab sin ¢
= 3 x 4.8 sin60° M,
=59, 86cm’ A
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[

R A
(2x-1)? -1 =3
M, Expansion
4’ -ax+1 -1=3
M, Simplification
o -4x -3 =0
4 -6x+2x -3 =0
2x(2x-3) +1 2x~-3) =0 M,
(2x—3) (2x+1) =0
Ay For both
B: Sketch
Tan 30° = 40/x B,
X = 40
Tan 30°
= 69.28m B,
FB = 69.28m
X+ y = 5/6
2x -y
6x + 6y = 10x -5y By
11y = 4x
xfy =11/4
Xy = 11:4 B,
X:3y = 11:12 B,
Let the No. be xy
X +y = R ()]
(10x+y) -(10y +x} = 18 My Both equation formed
9x - 9y = 18





[image: image4.png]Attempt to solve
Alt. method substution

X -y = 2 (i)
+
X+ y = 12
2x = 14 My
X = 7
Y = 5
No: xy =75
Product =7x 5
=35 Ay
12,
a} Speedofcar = 75 Km/hr
Distance covered in 40 min
= 40/60 x 75
= 50km B,
Relative speed = 96-75 =21 kmhr?
Distance from station
= 50/21 x96 M,
=2284/7 km A
OR
a) Let the distance be x
X/75 = x/96 + 40/60
X/75 - x/96  =2/3
96x - 75x = 2/3 x 75 x96
21x = 4800
X = 228.57km
M;
b) Time taken = 50/21
=2 8/21Hrs
Patrol car caught up with the car at M,
=10.30 + 28/21
= 12:53 p.m B,





[image: image5.png]a) Net
6 6
6 6 B, For sketch with correct
measurements.
6
M | Alt. method follow through
b) Areaofsolid = Areaof4l s
= 4 X% x6x6 sin60° A
= 62.352cm?
14.
r = 10.484848
100r = 10.4848.48
100r~r = 1048.48 - 10.48 My
99r = 1038
r =1038 My
99
r = 10 16/33 A
15.
Ext. angle = 360%/5
=72°
< - o 0
a) BAE 18(3 72 B1
= 108
b} <BED = 1080 -72%2 B1
=172
B1
¢) <BNM = 180°-(90+36)
= 54°
16. 2X + 3>5x - 3>-8
2x + 3>5x—3, 5x -3>-8
2x - 5x>-3-3, 5x>-8+3
-3x> -6, 5x> -5
X X Bl





[image: image6.jpg]b) S. A of afrustum
Area of curved surface

= TIRL -7l
L =vh+r
= (14’ +18.67°)"

=23.34cm

OR

x<2, x>-1 B,
1l<x<?2
< EP_'_ _¢_!_ > B;
10 1 2 3 4
SECTION 11
17:
a)
hg14
H
RZ +H  =1L?
28% + H* =35
H* =35 -28°
H =V 441
=21lcm B,
R = H
r h M;
[ £ = Rh
H M;
r =28 x14
21
r = 18.67cm Ay





[image: image7.png]H=1
h |
I = Lth = 35x14
H 21
= 23.33cm B
Total SSA =T[(RL—rl) + Hr2 +T1Jr2
= ﬂ{(zs x 35-18.67 x 23.33) + 28 +18.67°) | M,
=T1{_(980-435.57) +784 +348.57} M,
= (544.43 + 784 + 348.57)T]
= 1677TIcm’
= 5265 .78cm* Ay
18,
Mid Points f fx
55 1 5.5
155 3 46.5
25.5 4 102.0
35.5 5 177.5
455 9 409.5
55.5 6 333.0 B,
65.5 5 327.5
755 3 226.5
85.5 4 342.0
$f=40 | 3fx = 1970
a) Modalclass = 41 -50 By
b) (i) Median = (My + My) +2 M, For My, and M,,
:E395 +7/9% 10} + 39.5 +8/9 x 10} +a
= 47.28 +48 39
2 As

@{ 47.835 Marks
@
c) Histogram
On the grid provided





[image: image8.png]19. "
a) <QRT =180°- <QPT- Opp. Inter<sof | B | Reasoneiven®
cycle % lateral
=180°-95° B
=85’ ’
by <aPT = 65" + 30° M,
= 9:50 Ay
¢) <paR =<PQSs + <RQS My | ¢
- 90° + 25° PQR - Subtended by
=115° A diameter
<psQ = <SQR = 25°
d) <PTR = 180°- <POR My
=180° - 115°
= 65° h
20.
C 8, | Accurate drawing of A
B, Circumscribing A
A B
B, Dropping
Radius = 3.1lem£0.1 B:
BN =height = 4.0cm 0.1 Bq
Base AC = 6.1cm 0.1 B
Area of 2\ ABC = % bh My
=% x6.1x4
=12.2cm’ Ay





[image: image9.png]a) On the grid provided

Figure (grid)

b) A, (1,-2) B1(3,-2)

Co-ordinates

G (a-4) D1 (0,-4)

Mirror line

C) A2 (2,-1) B2(2,-3)

Mirror line

C2 (4,-4) D2 {4,0)

Co-ordinates

Figure (grid)

d) Line of symmetry of trapezium

| A; B; G Dy

B; ’ On the grid
| X =2 .

e) Trapezium ABCD and A1 B G D,





[image: image10.png]a) On the grid provided

Figure (grid)

b) A, (1,-2) B1(3,-2)

Co-ordinates

G (a-4) D1 (0,-4)

Mirror line

C) A2 (2,-1) B2(2,-3)

Mirror line

C2 (4,-4) D2 {4,0)

Co-ordinates

Figure (grid)

d) Line of symmetry of trapezium

| A; B; G Dy

B; ’ On the grid
| X =2 .

e) Trapezium ABCD and A1 B G D,
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